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� ��	��	�� ������ ������	��� ���	��� � ��� ����
!�����"� � "�	#���$�
� ��� �	�
�% ��&����% �	����!�� #��"��� � �����������!�
�������� ��� � � �����"� �� ��'�� � �� ���� � �����
� � �	����!�( ��&�!�( ���)

���( !	��� * ����� ������ ��$���$ ��� 
��� �����+ "�	#���$�
�� ��	��	�� ������

� ������ � ���'��( !	�	(, ���"����! �"�� $ ������ -
	#��� .�/� 0�	��	�� ������
������	��� !����
�& "�	#���$�
�� � �����������!� �������� ������������ � .1, 2/�
*����� � ���'��( !	�	( � ��
	 ���'��( �!���( �	�	������	��� �������	�� � .3/,
� � �!���( -
	#��� � � .�/�

4 �����
� ΩT = {(x, t) : 0 < x < h(t), 0 < t < T } , �	 x = h(t) � �	����!� !	��,
��� ����$!� ����������	 �������� � �	����!�! !�����"�! b = b(t) � "�	#���$�
�
��� �	�
�% ��&����%

ut = a(x, t)uxx + b(t)b0(x, t)ux + c(x, t)u + f(x, t), (x, t) ∈ ΩT , 5�6

����
"��� �!���

u(x, 0) = ϕ(x), 0 � x � h(0), 516

"��%��� �!���

u(0, t) = µ1(t), u(h(t), t) = µ2(t), 0 � t � T, 526

�© ������ ��	
��� �
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� �!��� �	�	������	���

h′(t) = −k(t)ux(h(t), t) + µ3(t), 0 � t � T, 536

h(t)∫
0

u(x, t)dx = µ4(t), 0 � t � T. 5�6

4������ ���� �!���� y =
x

h(t)
, �����!� ������ 5�6)5�6 �� ��	��	��� �
������

�	����!�& h(t), b(t), v(y, t), �	 v(y, t) = u(yh(t), t), � �����
� QT = {(y, t) : 0 < y < 1,
0 < t < T }

vt =
a(yh(t), t)

h2(t)
vyy +

b(t)b0(yh(t), t) + y h′(t)
h(t)

vy + c(yh(t), t) v + f(yh(t), t), 576

�	 (y, t) ∈ QT ,

v(y, 0) = ϕ(yh(0)), 0 � y � 1, 5�6

v(0, t) = µ1(t), v(1, t) = µ2(t), 0 � t � T, 586

h′(t) = −k(t)
h(t)

vy(1, t) + µ3(t), 0 � t � T, 5�6

h(t)

1∫
0

v(y, t)dy = µ4(t), 0 � t � T. 5�96

:�� ����;��"�! ������ 576)5�96 ���	!� ����!�
� 
��%"� #��"��% (h(t), b(t), v(y, t))
� "���� C1[0, T ]×C[0, T ]×C2,1(QT ), h(t) > 0, t ∈ [0, T ], <� �������'��$ �������� 576

� �!��� 5�6)5�96�

�� �
������� ��������� ������ ���������

������� �� -���./���01 20 3�405.6�7/� .�03�8
A1) a, b0, c, f ∈ C([0,∞) × [0, T ]), a, b0, c, f ∈ C1,0([0, H1] × [0, T ]), ϕ ∈ C[0,∞),
ϕ ∈ C2[0, h0], µi ∈ C1[0, T ], i = 1, 2, 4, µ3 ∈ C[0, T ];
A2) a(x, t) > 0, c(x, t) < 0, f(x, t) � 0, (x, t) ∈ [0,∞) × [0, T ], b0(x, t) �= 0,
(x, t) ∈ [0, H1] × [0, T ], ϕ(x) � ϕ0 > 0, x ∈ [0,∞), ϕ′(x) > 0, x ∈ [0, h0],
µi(t) > 0, i = 1, 4, t ∈ [0, T ],

9� h0 = h(0) > 0 : �0;3<�;40� ��35�55�

h(0)∫
0

ϕ(x)dx = µ4(0),

H1 = max
[0,T ]

µ4(t)(min {min
[0,h0]

ϕ(x), min
[0,T ]

µ1(t), min
[0,T ]

µ2(t)})−1;

A3) ϕ(0) = µ1(0), ϕ(h0) = µ2(0),



�()*+,-**. *-�/0121$1 2*13*(4+""" %&5

µ′
1(0) =

a(0, 0)
h2

0

ϕ′′(0) +
b(0)b0(0, 0)

h0
ϕ′(0) + c(0, 0)ϕ(0) + f(0, 0),

µ′
2(0) =

a(h0, 0)
h2

0

ϕ′′(h0) +
b(0)b0(h0, 0) + h′(0)

h0
ϕ′(h0) + c(h0, 0)ϕ(h0) + f(h0, 0), 9�

b(0) =
( 1∫

0

b0(yh0, 0)ϕ′(yh0)dy

)−1[
µ′

4(0) − µ3(0)µ2(0) +
1
h0

(
(k(0)µ2(0) − a(h0, 0))×

×ϕ′(h0) + a(0, 0)ϕ′(0)
)

+

1∫
0

(
ax(yh0, 0)ϕ′(yh0) − h0(c(yh0, 0)ϕ(yh0) + f(yh0, 0))

)
dy

]
,

h′(0) = −k(0)
h0

ϕ′(h0) + µ3(0).

�09� �0=5� ;�;5�>��� ��4� >�/?0 T0 : 0 < T0 � T 1 �4� 3�;5�>�:�7/� 3���95���
9�5���1 20 �0;3<�;04 ;�9�>� @ A
@B�A �/5.: ��� 0 � y � 1, 0 � t � T0.

���������� 4��&���(�� �!��� 516, 5�6 
� �����<	��� 
	��	!� �, ��	���!� ����)
����� $���� � ����	��� h(0) = h0, �"	 �������'��$ ��������

h(0)∫
0

ϕ(x)dx = µ4(0).

���	�	��� 
	��	!� � =���
�$
'�� �� ���
�������� 
	��	!� >���	�� ��� �	��&�)
!� 
��"� ���"�! �	�	�	���� � ��	��
���� *�	�	!� ������ 576)5�96 �� ���
	!� ���)
���'� ?�!������ ������
�!�, <� #��"��� h(t), b(t) ����!�� 4�"����
���(�� #��"��(
@���� G1(y, t, η, τ) �	�
�� "��%���� ������ ��� ��������

vt =
a(yh(t), t)

h2(t)
vyy + c(yh(t), t) v,

�����!� ���!� ������ 576)586 �� ��������

v(y, t) = v0(y, t) +

t∫
0

1∫
0

G1(y, t, η, τ)
b(τ)b0(ηh(τ), τ) + η h′(τ)

h(τ)
vη(η, τ)dηdτ, 5��6

�	 v0(y, t) �������$
'�� #��!���( .7/

v0(y, t) =

1∫
0

G1(y, t, η, 0)ϕ(ηh0)dη +

t∫
0

G1η(y, t, 0, τ)
a(0, τ)
h2(τ)

µ1(τ) dτ−

−
t∫

0

G1η(y, t, 1, τ)
a(h(τ), τ)

h2(τ)
µ2(τ) dτ +

t∫
0

1∫
0

G1(y, t, η, τ) f(ηh(τ), τ) dη dτ.
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4�	�	!� ������	��� p(t) = h′(t), w(y, t) = vy(y, t)� ?��� 5��6 ����!� � �� ����

v(y, t) = v0(y, t) +

t∫
0

1∫
0

G1(y, t, η, τ)
b(τ)b0(ηh(τ), τ) + η p(τ)

h(τ)
w(η, τ)dηdτ. 5�16

4���
	!� ������ ��� ���&���	��� w(y, t)� :����#	�	���(���
� 576, 5�6 �� y 
�
��"����
��
� 586, ��	���!�

wt =
a(yh(t), t)

h2(t)
wyy +

ax(yh(t), t) + b(t)b0(yh(t), t) + y h′(t)
h(t)

wy +
(

h′(t)
h(t)

+

+b(t)b0x(yh(t), t) + +c(yh(t), t)
)

w + h(t)cx(yh(t), t)v + h(t)fx(yh(t), t), (y, t) ∈ QT ,

w(y, 0) = h0ϕ
′(yh0), y ∈ [0, 1], 5�26

wy(0, t) =
h2(t)
a(0, t)

[
µ′

1(t) − c(0, t)µ1(t) − f(0, t) − b(t)b0(0, t)
h(t)

w(0, t)
]
, t ∈ [0, T ],

wy(1, t) =
h2(t)

a(h(t), t)

[
µ′

2(t) − c(h(t), t)µ2(t) − f(h(t), t) − b(t)b0(h(t), t) + h′(t)
h(t)

w(1, t)
]
,

t ∈ [0, T ].
*����� 5�26 � �����"� �����'��& �	�	�	����& �� [0, T ] #��"��% h(t), h′(t), b(t)

	"�����	�
�� �������(

w(y, t) = h0

1∫
0

G2(y, t, η, 0)ϕ′(ηh0)dη −
t∫

0

G2(y, t, 0, τ)
[
µ′

1(τ) − c(0, τ)µ1(τ) − f(0, τ)−

−b(τ)b0(0, τ)
h(τ)

w(0, τ)
]
dτ +

t∫
0

G2(y, t, 1, τ)
[
µ′

2(τ) − c(h(τ), τ)µ2(τ) − f(h(τ), τ)−

−b(τ)b0(h(τ), τ) + h′(τ)
h(τ)

w(1, τ)
]
dτ +

t∫
0

1∫
0

G2(y, t, η, τ)
[
b(τ)b0(ηh(τ), τ) + ηh′(τ)

h(τ)
×

×wη(η, τ) +
(

b(τ)b0x(ηh(τ), τ) +
h′(τ)
h(τ)

+ c(ηh(τ), τ)
)

w(η, τ) + h(τ) cx(ηh(τ), τ)×

×v(η, τ) + h(τ)fx(ηh(τ), τ)
]
dη dτ, 5�36

�	 G2(y, t, η, τ) � #��"��� @���� ��� �� "��%���� ������ ��� ��������

wt =
a(yh(t), t)

h2(t)
wyy +

ax(yh(t), t)
h(t)

wy . 5��6
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A�
	 ��(�� ���
���!� � ������

t∫
0

1∫
0

G2(y, t, η, τ)
b(τ)b0(ηh(τ), τ) + ηh′(τ)

h(τ)
wη(η, τ)dηdτ ,

����!� 5�36 � �� ����

w(y, t)=h0

1∫
0

G2(y, t, η, 0)ϕ′(ηh0)dη −
t∫

0

G2(y, t, 0, τ)
[
µ′

1(τ)−c(0, τ)µ1(τ)−f(0, τ)
]
dτ+

+

t∫
0

G2(y, t, 1, τ)
[
µ′

2(τ)−c(h(τ), τ)µ2(τ)−f(h(τ), τ)
]
dτ +

t∫
0

1∫
0

G2(y, t, η, τ)×

×(c(ηh(τ), τ)w(η, τ) + h(τ)(cx(ηh(τ), τ) v(η, τ) + fx(ηh(τ), τ)))dη dτ−

−
t∫

0

1∫
0

G2η(y, t, η, τ)
b(τ)b0(ηh(τ), τ) + ηp(τ)

h(τ)
w(η, τ)dη dτ. 5�76

* �!��� 5�6 !�
�!	!�

p(t) = −k(t)
h(t)

w(1, t) + µ3(t). 5��6

* �!��� 5�96 �
��!�$!�

h(t) =
µ4(t)

1∫
0

v(y, t)dy

. 5�86

:����#	�	���(���
� 5�96 �� t � ��"����
��
� 576, ��	���!�

b(t) =
( 1∫

0

b0(yh(t), t)w(y, t)dy

)−1[
µ′

4(t) − µ3(t)µ2(t) +
k(t)µ2(t) − a(h(t), t)

h(t)
w(1, t)+

+
a(0, t)
h(t)

w(0, t) +

1∫
0

(
ax(yh(t), t)w(y, t) − h(t)(c(yh(t), t) v(y, t) + f(yh(t), t))

)
dy

]
.

5��6

B�� ���	!� �������� 5��6 � ����
"���( 
� "��%���!� �!���!�

w(y, 0) = 1, wy(0, t) = wy(1, t) = 0.

*� ����!� �( #��"��� @���� ��� �� "��%���� ������ ��� �������� 5��6 ����;���"
������ !��	!� ����
� � �� ����

w(y, t) =

1∫
0

G2(y, t, η, 0)dη.
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* ��
� � ��"�, ����;��"�! 
�"�� ������ $ w(y, t) = 1� 0
�	, !��	!� �����
� �������",

<�

1∫
0

G2(y, t, η, 0)dη = 1, 
� ��� ����
���
' �	�
� � �����"� � 5�76� 0�"��'"� � 5�76

�	

� �����"�� ��� t = 0 ������($ ���(, 
� ����$ �	�"	 ����� t0, 0 < t0 � T , 
�"	
<�

w(y, t) � 1
2

min
[0,1]

ϕ′(yh0)

1∫
0

G2(y, t, η, 0)d η =
M0

2
> 0, 0 � y � 1, 0 � t � t0.

0
�	,

1∫
0

b0(yh(t), t)w(y, t)dy �= 0, "��� 0 � y � 1, 0 � t � t0�

0
��, ������ 576)5�96 ��	�	�� �� ���
	!� ��
	 ���'��& ������' 5�16, 5�76)5��6 �
�	����!�!� h(t), p(t), b(t), v(y, t), w(y, t)� C"<� (h(t), b(t), v(y, t)) $ ����;��"�! ������
576)5�96 � �	��� ���	�	�� � �����	���, 
� #��"��� (h(t), p(t), b(t), v(y, t), w(y, t)) $ �	)
�	�	����! ����;��"�! ���
	!� 5�16, 5�76)5��6� :�����'��! $ � ��	��	�	 
�	���	���+
�"<� (h, p, b, v, w) ∈ (C[0, T ])3 × (C(QT ))2 $ ����;��"�! ���
	!� 5�16, 5�76)5��6, 
�
#��"��� (h(t), b(t), v(y, t)) $ ����;��"�! ������ 576)5�96�

D	&�% (h, p, b, v, w) ∈ (C[0, T ])3 × (C(QT ))2 $ ����;��"�! ���
	!� 5�16, 5�76)5��6�
:����<	��� 
	��	!� � ����!���
' ��! �����#	�	���(��
� ������
' 5�16 �� y 
� �
$�����
� ����;��"� ��
	 ���'��& ������' 4��'
	��� ��� � � ���� �
��!�
� w(y, t) =
= vy(y, t)� ?��� ����!� �������", <� v(y, t) !�$ ��
�����  ���"��
' � �������'��$
��������

vt =
a(yh(t), t)

h2(t)
vyy +

b(t)b0(yh(t), t) + yp(t)
h(t)

vy + c(yh(t), t)v + f(yh(t), t) 5196

� �!��� 5�6, 586, 5�96 ��� �����'��& �	�	�	����& �� [0, T ] #��"��% b(t) � h(t)� 0�"��'"�
v ∈ C2,1(QT ) � µ4 ∈ C1[0, T ], 
� h ∈ C1[0, T ]. 4��&���(�� 
	, <� #��"��� v(y, t) $
����;��"�! �������� 5196, �����#	�	���($!� ������
' 5�86 �� t

b(t) =
( 1∫

0

b0(yh(t), t)vy(y, t)dy

)−1[
µ′

4(t)−p(t)µ2(t)− a(h(t), t)
h(t)

vy(1, t)+
a(0, t)
h(t)

vy(0, t)+

+
µ4(t)
h(t)

(
p(t)−h′(t)

)
+

1∫
0

(
ax(yh(t), t)vy(y, t)−h(t)(c(yh(t), t) v(y, t)+f(yh(t), t))

)
dy

]
.

4����!�(�� ��� ��$� ������
� 5��6, �
��!�$!�

(
p(t) − h′(t)

)µ4(t)
h(t)

= 0.

*����� !�
�!	!�
p(t) = h′(t).
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0
�	, 	"�����	�
���
' ������ 576)5�96 
� ���
	!� ������' 5�16, 5�76)5��6 � �����)
�	��!� �	��� ���	�	���

4������!� �������� ����"� ����;��"�� ���
	!� ������' 5�16, 5�76)5��6� * ���� �
��������! !�"��!�!� .�/ ��� ����;��"� ������ 576)586 !�
�!	!�

v(y, t) � min {min
[0,h0]

ϕ(x), min
[0,T ]

µ1(t), min
[0,T ]

µ2(t)} ≡ M1 > 0, (y, t) ∈ QT .

* ���� � 5�86 �
��!�$!�

h(t) �
max
[0,T ]

µ4(t)

M1
≡ H1 < ∞, t ∈ [0, T ].

*��%�	!� ����"� #��"��� v(y, t) ��	�&�� ��� �'� � ����� ��"����
�$!� �������
!�"��!�!�

v(y, t) � max {max
[0,h0]

ϕ(x), max
[0,T ]

µ1(t), max
[0,T ]

µ2(t), max
[0,H1]×[0,T ]

f(x, t)} ≡ M2 < ∞.

*����� � ���&������! 5�86 !�$!�

h(t) �
min
[0,T ]

µ4(t)

M2
≡ H0 > 0, t ∈ [0, T ].

0
�	,

0 < M1 � v(y, t) � M2 < ∞, (y, t) ∈ QT , 0 < H0 � h(t) � H1 < ∞, t ∈ [0, T ].

:������!� W (t) = max
y∈[0,1]

|w(y, t)|. ?��� � 5��6, 5��6 !�
�!	!�

|p(t)| � C1 + C2W (t), 51�6

|b(t)| � C3 + C4W (t). 5116

* ���� � 51�6, 5116 
� ����"�!� #��"��� @���� .�/ � 5�76 ��	���!� 
�"� �	������
'+

W (t) � C5 + C6

t∫
0

W (τ) + W 2(τ)√
t − τ

dτ.

:�������
� W1(t) = W (t)+ 1, ���	�	��( �	������
' �	�	��
	!� � 
�"�!� �� ����+

W1(t) � C7 + C8

t∫
0

W 2
1 (τ)√
t − τ

dτ.

�	
�� ����;�������� ��
���'�� �	������
� ������ � .7/� 0
�	, �
��!�$!� ����"�

W (t) � M3 < ∞, t ∈ [0, t1],



%': ������ ����	


�	 t1, 0 < t1 � T, �������$
'�� �
���!� C7, C8� 4�"����
���(�� �	 � 51�6, 5116,
��	���!�

|p(t)| � C9 < ∞, |b(t)| � C10 < ∞, t ∈ [0, t1].

0
�	, �������� ����"� ����;��"�� ���
	!� 5�16, 5�76�5��6 ���%�	���
:���!� ���
	!� 5�16, 5�76�5��6 � �� ���� ��	��
���� � ��������

ω = Pω,

�	 ω = (h(t), b(t), p(t), v(y, t), w(y, t)), � ��	��
�� E �������$
'�� �����!� ���
���)
!� ������' 5�16, 5�76�5��6� :������!� N = {(h, b, p, v, w) ∈ (C[0, T0])3 ×(C(QT0

))2 :
H0 � h(t) � H1, |b(t)| � C10, |p(t)| � C9, M1 � v(y, t) � M2, |w(y, t)| � M3}, �	
T0 = min{t0, t1}� 0�	�����, <� !������ N �������'��$ �!��� 
	��	!� >���	���

���	�	��� "�!��"
���
� ��	��
����, <� �
���((
' E, ��"��	!� �� ���"����
��	��
��� P5, �	 P5 �������$
'�� �����( ���
���( 5�76� *������!�, <� � .7/ ��)
����	�� "�!��"
���
' �������& ��	��
���� � #��"��$( @���� ��� �� "��%���� ������
��� �������� 
	������������
��

*���!� ε > 0 � ��� ���	!� ������(

∆1 =

∣∣∣∣∣∣
1∫

0

G2(y2, t2, η, 0)ϕ′(ηh0)dη −
1∫

0

G2(y1, t1, η, 0)ϕ′(ηh0)dη

∣∣∣∣∣∣
� �����'��!� 
��"�!� (yi, ti) ∈ QT0

, (y1, t1) �= (y2, t2).
0�	�����, <�

∆1 �

∣∣∣∣∣∣
1∫

0

G2(y2, t2, η, 0)ϕ′(ηh0)dη −
1∫

0

G2(y1, t2, η, 0)ϕ′(ηh0)dη

∣∣∣∣∣∣ +

+

∣∣∣∣∣∣
1∫

0

G2(y1, t2, η, 0)ϕ′(ηh0)dη −
1∫

0

G2(y1, t1, η, 0)ϕ′(ηh0)dη

∣∣∣∣∣∣ = ∆1,1 + ∆1,2.

* ����
����
	% 
	�����& ��
	������� .�/ �������$, <� ��� ������ � ε > 0 ����$ 
�"	
t, 0 < t � T0, <�∣∣∣∣∣∣

1∫
0

G2(y, t, η, 0)ϕ′(ηh0)dη − ϕ′(yh0)

∣∣∣∣∣∣ <
ε

5
, "��� 0 � t � t, 0 � y � 1. 5126

?�!� ��� t2 � t !�$!�

∆1,1 �

∣∣∣∣∣∣
1∫

0

G2(y2, t2, η, 0)ϕ′(ηh0)dη − ϕ′(y2h0)

∣∣∣∣∣∣+
+

∣∣∣∣∣∣
1∫

0

G2(y1, t2, η, 0)ϕ′(ηh0)dη − ϕ′(y1h0)

∣∣∣∣∣∣ + |ϕ′(y2h0) − ϕ′(y1h0)| .
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* �����!����� �	�	�	�����
� #��"��� ϕ �� [0, h0] �������$ ��������� 
�"� � δ1 > 0,
<�

|ϕ(y2h0) − ϕ(y1h0)| <
ε

5
,

"��� |y2 − y1| < δ1. *����� � � 5126 !�$!� ∆1,1 <
3ε

5
, �"<� t2 � t� C"<� � � t1 � t,


� ∆1,2 <
2ε

5
, � �
��!�$!� ∆1 < ε �� �!��� |y2 − y1| < δ � t1 
� t2 ����
' !���

t1 � t, t2 � t.
D	&�% 
	�	� t2 > t, t1 > t �, ��� ������	���
�, t2 > t1� ?��� � ���� � ����"�!�

#��"��� @���� .�/

∆1,1 =

∣∣∣∣∣∣
1∫

0

ϕ′(ηh0)dη

y2∫
y1

G2y(y, t2, η, 0)dy

∣∣∣∣∣∣ � C11|y2 − y1|√
t

max
[0,1]

|ϕ′(yh0)|.

F	 ������$, <� ����$ 
�"	 ����� δ2 > 0, <� ∆1,1 <
ε

2
��� |y2 − y1| < δ2� G���� ����

�������$!� ��������� δ3 > 0 
�"� �, <� ∆1,2 <
ε

2
, "��� |t2 − t1| < δ3�

0
�	, �	��&���� �	������
� ������	�� � �����"� ti � t, i = 1, 2, � �����"� ti � t,
i = 1, 2� C"<� �, �����"���, t1 � t, � t2 > t, 
� ����!� ∆1,2 � �� ����

∆1,2 =

∣∣∣∣∣∣
1∫

0

G2(y1, t2, η, 0)ϕ′(ηh0)dη −
1∫

0

G2(y1, t, η, 0)ϕ′(ηh0)dη

∣∣∣∣∣∣ +

+

∣∣∣∣∣∣
1∫

0

G2(y1, t, η, 0)ϕ′(ηh0)dη −
1∫

0

G2(y1, t1, η, 0)ϕ′(ηh0)dη

∣∣∣∣∣∣ .

��� �% ������" �����!�, ���&���(�� 5126, � �	�
�% � �" � �����"� t1 > t, t2 > t.
0
�	, !� ���	��, <� ∆1 < ε�

B�� ���	!� ������(

∆2 =

∣∣∣∣∣∣
t2∫

0

G2(y2, t2, 0, τ)µ̃1(τ)dτ −
t1∫

0

G2(y1, t1, 0, τ)µ̃1(τ)dτ

∣∣∣∣∣∣ ,

�	 µ̃1(t) = µ′
1(t) − c(0, t)µ1(t) − f(0, t)�

0�	�����, <�

∆2 �

∣∣∣∣∣∣
t2∫

0

G2(y2, t2, 0, τ)µ̃1(τ)dτ −
t2∫

0

G2(y1, t2, 0, τ)µ̃1(τ)dτ

∣∣∣∣∣∣ +

+

∣∣∣∣∣∣
t2∫

0

G2(y1, t2, 0, τ)µ̃1(τ)dτ −
t1∫

0

G2(y1, t1, 0, τ)µ̃1(τ)dτ

∣∣∣∣∣∣ = ∆2,1 + ∆2,2.
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0����!� �	�
�% ������", ������
� ��!��� �!����& t2 − τ = σ

∆2,1 � C12

t2∫
0

|G2(y2, t2, 0, t2 − σ) − G2(y1, t2, 0, t2 − σ)| dσ.

* ���� � ����"�!� #��"��� @���� .�/, ��� ������ � ε > 0 !���� �������
� t > 0, <�

t∫
0

|G2(y, t2, 0, τ)|dτ <
ε

6C12
, y ∈ [0, 1]. 5136

C"<� t2 � t, 
� � 5136 !�$!� ∆2,1 <
ε

3
� C"<� � t2 > t, 
�, �������(�� ��
	 ��� ��

��!� ���& ��
	 ����� � ���
�����(�� 5136, �
��!�$!�

∆2,1 � ε

3
+ C12

t2∫
t

|G2(y2, t2, 0, t2 − σ) − G2(y1, t2, 0, t2 − σ)| dσ �

� ε

3
+ C12

t2∫
t

y2∫
y1

|G2y(y, t2, 0, t2 − σ)|dy dσ.

*�����, ��"����
���(�� ����"� #��"��� @���� .�/, !�$!�

∆2,1 � ε

3
+ C13|y2 − y1|.

4�����(�� δ4 <
ε

6C13
, �������$!� ����"� ∆2,1 <

ε

2
, "��� |y2 − y1| < δ4�

4����(�� ��� ������	���
� t2 > t1, �����!� ��� �% ������"

∆2,2 �
∣∣∣∣

t2∫
t1

G2(y1, t2, 0, τ)µ̃1(τ)dτ

∣∣∣∣ +
∣∣∣∣

t1∫
0

(G2(y1, t2, 0, τ) − G2(y1, t1, 0, τ))µ̃1(τ)dτ

∣∣∣∣ =

= ∆2,2,1 + ∆2,2,2.

0����!� ∆2,2,1, ������
� ��!��� �!����& t2 − τ = σ

∆2,2,1 � C12

t2−t1∫
0

|G2(y1, t2, 0, t2 − σ)|dσ.

4��&���(�� 5136, ����!� �������" ��� ��������� 
�"� � δ5 > 0, <� ∆2,2,1 <
ε

6
���

|t2 − t1| < δ5.

��� ����"� ∆2,2,2 �����!� ��!��� �!����& t1 − τ = σ

∆2,2,2 � C12

t1∫
0

|G2(y1, t2, 0, t1 − σ) − G2(y1, t1, 0, t1 − σ)|dσ.
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4��&���(�� 5136, ��&���!� ������"� ��� ��������� 
�"� � t > 0, <� ∆2,2,2 < ε
6 ���

t1 � t� � �����"� t1 > t !�$!�

∆2,2,2 � ε

3
+ C12

t1∫
t

∣∣∣∣
t2∫

t1

G2t(y1, t, 0, t1 − σ)dt

∣∣∣∣ dσ.

*����� �������$ ��������� 
�"� � δ6 > 0, <� ��� |t2 − t1| < δ6 !�
�!	!� ∆2,2,2 < ε
6 �

0
�	, ∆2 < ε�
D��	�	�� !��"������ ��"����
���(
' ��� �����"

∆3 =

∣∣∣∣∣∣
t2∫

0

G2(y2, t2, 1, τ)µ̃2(τ)dτ −
t1∫

0

G2(y1, t1, 1, τ)µ̃2(τ)dτ

∣∣∣∣∣∣ ,

∆4 =

∣∣∣∣∣∣
t2∫

0

1∫
0

G2(y2, t2, η, τ)f(η, τ)dη dτ −
t1∫

0

1∫
0

G2(y1, t1, η, τ)f(η, τ)dη dτ

∣∣∣∣∣∣ .

0
�	, "�!��"
���
' ��	��
��� E ���	�	���
?��� �� 
	��	!�( >���	�� ����$ ����;���" (h(t), b(t), p(t), v(y, t), w(y, t)) ���
	!�

������' 5�16, 5�76)5��6 � "���� (C[0, T0])3 × (C(QT0
))2, � �
�	, � ����;���" ������

576)5�96 (h(t), b(t), v(y, t)) � "���� C1[0, T0] × C[0, T0] × C2,1(QT0
).

?	��	!� � ���	�	���

 � !����
"# ��������� ������ ���������

�������  � 	 3���94. 3�405�55� .�03
B1) a ∈ C2,0([0, H1] × [0, T ]), b0, c, f ∈ C1,0([0, H1] × [0, T ]), ϕ ∈ C[0,∞);
B2) a(x, t) > 0, (x, t) ∈ [0,∞)×[0, T ], b0(x, t) �= 0, (x, t) ∈ [0, H1]×[0, T ], ϕ(x)�ϕ0 >01
x ∈ [0,∞)1 ϕ′(x) > 01 x ∈ [0, h0]1 µ4(t) > 01 t ∈ [0, T ]
�0=5� ;�;5�>��� ��4� >�/?0 t0 : 0 < t0 � T 1 20 �0;3<�;04 ;�9�>� @ A
@B�A :9�5�C
��� 0 � y � 1, 0 � t � t0.

���������� D	&�% (hi(t), bi(t), vi(y, t)), i = 1, 2, � ��� ����;��"� ������ 576)5�96�
:������!�

bi(t)
hi(t)

= qi(t),
h′

i(t)
hi(t)

= si(t), i = 1, 2,

q(t) = q1(t) − q2(t), s(t) = s1(t) − s2(t) v(y, t) = v1(y, t) − v2(y, t).

H��"��� q(t), s(t), v(y, t) �������'��(
' �!���

vt =
a(yh1(t), t)

h2
1(t)

vyy + (q1(t)b0(yh1(t), t) + ys1(t))vy + c(yh1(t), t)v+

+
(

a(yh1(t), t)
h2

1(t)
− a(yh2(t), t)

h2
2(t)

)
v2yy + (q1(t)b0(yh1(t), t) − q2(t)b0(yh2(t), t) + ys(t))v2y

+(c(yh1(t), t) − c(yh2(t), t))v2 + f(yh1(t), t) − f(yh2(t), t), (y, t) ∈ QT , 51�6
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v(y, 0) = 0, 0 � y � 1, 5176

v(0, t) = v(1, t) = 0, 0 � t � T, 51�6

h′(t) = −k(t)
(

v1y(1, t)
h1(t)

− v2y(1, t)
h2(t)

)
, 0 � t � T, 5186

1∫
0

v(y, t)dy = µ4(t)
(

1
h1(t)

− 1
h2(t)

)
, 0 � t � T. 51�6

*� ����!� �( #��"��� @���� G∗
1(y, t, η, τ) ��� ��������

vt =
a(yh1(t), t)

h2
1(t)

vyy + (q1(t)b0(yh1(t), t) + ys1(t))vy + c(yh1(t), t)v

� ���&������! �!�� 5176, 51�6 #��"��( v(y, t) ����!� � 
�"�!� �� ����

v(y, t) =

t∫
0

1∫
0

G∗
1(y, t, η, τ)

[(
a(ηh1(τ), τ)

h2
1(τ)

− a(ηh2(τ), τ)
h2

2(τ)

)
v2ηη(η, τ)+

+(q1(τ)b0(ηh1(τ), τ) − q2(τ)b0(ηh2(τ), τ) + ηs(τ))v2η(η, τ)+

+(c(ηh1(τ), τ) − c(ηh2(τ), τ))v2(η, τ) + f(ηh1(τ), τ) − f(ηh2(τ), τ)
]
dηdτ. 5296

0�"��'"� (hi(t), bi(t), vi(y, t)), i = 1, 2, � ����;��"� ������ 576)5�96, 
� ��� hi(t), bi(t),
i = 1, 2, ��������(
'�� ������
�, ����� ���� 5��6, 5��6

h′
i(t)

hi(t)
= − k(t)

h2
i (t)

viy(1, t) +
µ3(t)
hi(t)

, 52�6

bi(t)
hi(t)

=
(

hi(t)

1∫
0

b0(yhi(t), t)viy(y, t)dy

)−1[
µ′

4(t) − µ3(t)µ2(t) +
a(0, t)
hi(t)

viy(0, t)+

+
k(t)µ2(t) − a(hi(t), t)

hi(t)
viy(1, t) +

1∫
0

(
ax(yhi(t), t)viy(y, t) − hi(t)(c(yhi(t), t)×

×vi(y, t) + f(yhi(t), t))
)

dy

]
, i = 1, 2. 5216

* �!�� 
	��	!� !��	!� �����!� �������" ��� ��������� �	�"� � ����� t0, 0<t0 �T ,

�"� � <�

viy � M0

2
> 0, 0 � y � 1, 0 � t � t0, i = 1, 2.
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?���

1∫
0

b0(yhi(t), t)viy(y, t)dy �= 0, 0 � y � 1, 0 � t � t0, i = 1, 2.

* 52�6, 5216 !�
�!	!�

s(t) = −k(t)
(

v1y(1, t)
(

1
h2

1(t)
− 1

h2
2(t)

)
+

1
h2

2(t)

(
v1y(1, t) − v2y(1, t)

))
+

+µ3(t)
(

1
h1(t)

− 1
h2(t)

)
, 5226

q(t) =

[ 1∫
0

(b0(yh1(t), t)vy(y, t)+(b0(yh1(t), t)−b0(yh2(t), t))v2y(y, t))dy

(
h1(t)×

×
1∫

0

b0(yh1(t), t)v1y(y, t)dy

1∫
0

b0(yh2(t), t)v2y(y, t)dy

)−1

+
(

1
h1(t)

− 1
h2(t)

)
×

×
( 1∫

0

b0(yh2(t), t)v2y(y, t)dy

)−1][
µ′

4(t)−µ3(t)µ2(t)+
k(t)µ2(t) − a(h2(t), t)

h2(t)
v2y(1, t)+

+
a(0, t)
h2(t)

v2y(0, t)+

1∫
0

(
ax(yh2(t), t)v2y(y, t)−h2(t)(c(yh2(t), t) v2(y, t)+f(yh2(t), t))

)
dy

]
+

+
(

h1(t)

1∫
0

b0(yh1(t), t)v1y(y, t)dy

)−1[
k(t)µ2(t) − a(h1(t), t)

h1(t)
vy(1, t) +

a(0, t)
h1(t)

vy(0, t)−

−a(h1(t), t) − a(h2(t), t)
h1(t)

v2y(1, t)+
(

1
h1(t)

− 1
h2(t)

)(
(k(t)µ2(t)−a(h2(t), t))v2y(1, t)+

+a(0, t)v2y(0, t)
)

+

1∫
0

(
ax(yh1(t), t)vy(y, t)+(ax(yh1(t), t)−ax(yh2(t), t))v2y(y, t)−

−h1(t)c(yh1(t), t) v(y, t)−(h1(t)(c(yh1(t), t)−c(yh2(t), t))+h(t)c(yh2(t), t))v2(y, t)−

−h1(t)(f(yh1(t), t) − f(yh2(t), t)) + h(t)f(yh2(t), t)
)

dy

]
. 5236

4�"����
�$!� 
�"	 �	�	
���	���+

f(yh1(t), t)− f(yh2(t), t) = y(h1(t)− h2(t))

1∫
0

fx(y(h2(t) + σ(h1(t)−h2(t))), t)dσ. 52�6
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:	�	
���	��� 52�6 !��	!� ��"����
�
� ��� ������' a(yh1(t), t) − a(yh2(t), t),
ax(yh1(t), t) − ax(yh2(t), t), c(yh1(t), t) − c(yh2(t), t), b0(yh1(t), t) − b0(yh2(t), t)� 4���)
��!� hi(t) �	�	� si(t)

hi(t) = hi(0) exp

 t∫
0

si(τ)dτ

 , i = 1, 2,

�	 h1(0) = h2(0) = h0.
?���

1
h1(t)

− 1
h2(t)

=
1
h0

exp

−
t∫

0

s1(τ)dτ

 − exp

−
t∫

0

s2(τ)dτ

 .

4�"����
��
�

ex − ey = (x − y)

1∫
0

ey+τ(x−y)dτ,

�
��!�$!�

1
h1(t)

− 1
h2(t)

= − 1
h0

t∫
0

s(τ)dτ

1∫
0

exp

−
t∫

0

(σs(τ) + s2(τ))dτ

 dσ. 5276
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1
h2

1(t)
− 1

h2
2(t)

= − 2
h2

0

t∫
0

s(τ)dτ

1∫
0

exp

−2

t∫
0

(σs(τ) + s2(τ))dτ

 dσ. 52�6
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